Master Declension Chart of Noun/Adjective Endings
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First Declension — o or 7 stem

Case

Nom.

Sg.

Gen.
Sg.

Dat.
Sg.

Acc.
Sg.

Nom.

PI.

Gen.
PI.

Dat.
PI.

Acc.
PI.

Feminines
-0 + -- = --0
i
--QL + ¢ =--0G
M+ g =-Mg
- +1= --q
-N +1 = --1:]
-0 +Vv=--0v
~n+V=-nv
-0 +1=--01
-n+1=--01

-0 + WV = @V
-N+ v = --0v

-0l +1g = --0ug

-n +1g = --oug
-0, + g = --(xg
M+ G = --0g

Stem ends in either . or 0.

Masculines

-0, + g = --(xg
M+ g =--ng
-0 +vV =--0V
-n+v =--0V
- +1= --q
-N +1 = --1:]
-0 +Vv=--0v
~n+V=-nv
-0 +1=--01
--n+1=--01

-0 + WV = @V
-N + Qv = -0V

-0l +1g = --0ug

-n +1g = --oug
-0, + g = --(xg
M+ G = --0g

Second Declension — o stem

Masculines

-0 + G =--0¢
--0 +V =--0v
-0 +1= --Q)
-0 +v =--0v
--0 +1=--01

-0 + @V = --@V

-0 +1g = --01G

--0 + Vg = --0vg

Stem ends in o.

Neuters

-0 +V=-0v

-0 +V = -0V

__0+1:--u?

-0 +V=-0v

-0 +a = -0

-0 + OV = -~V

-0 +1g = --01g

-0+ 0 = -0

Third Declension

Masculines/Feminines

€ +¢= -G
--C + og = --Cog
--C+i1=--C
--C + o = --Co
--C+v=-Cv
--C + &g = --Ceg

--C + ov = --Cav

--C + o1 = --Co(v)

--C + og = --Colg

Neuters
--C+-=--C
--C + 0G = --COG
--C+1=--C
—-C+-=-C
--C +a = --Cal

--C + mv = --Coov

--C + 61 = --Coi(V)

--C + 0, = --Cay

*
C stands for the final letter of the stem. It can be either



a vowel or consonant, though most often the latter.
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